

Extended Hands Food Bank

"Helping our idends and neighbors during difficult times"

16548 E. Laser Dr. #6 Website: ship.org Donate online with: Pay Pal Fountain Hills, Arizona 85268 ehfbank@qwesioffice.nei* Mailing address: P.O. Box 18748 Fountain Hills, AZ 85269

480-837-0303

David W. Iverson / Executive Director

Board of Directors: Jim Coilins · Bob Mitchell Joe Guiièrrez

Donor Name:	1 - 0 -
Address:	TaulEAKS (TOTAK) taundation
City/State/Zip Code	Tourtain Phills 12 85200

Thank you for your donation to Extended Hands Food Bank. Your donation and support is vital to the success of our work. We depend on contributions from our community to operate and maintain our food bank and home goods store. Extended Hands Food Bank is a 501 (C)3 non-profit organization under the United States Internal Revenue Service (ID# - 20-0873646).

The states internal Revenue Service (ID# - 20-0873646).
This receipt acknowledges your donation of:
/ \$
10/29-491.28-1-1-000 000000
10/29-791.28-nordogs CANNED LAWS ONLOWS CRANBERTO SOUCH
Due to the faci that Extended to the facility went to the facility of the faci
CA WALL STUDIES TUDIES STUDIES WAS WELL TO STUDIES &
Due to the fact that Extended Hands Food Bank cannot assign monetary value to my gift, I am
pidding a value of side sank cannot assign monetary value to my aiff. I am
9 300.3/
No goods or services were exchanged for this donation.
Signed to a second
NOTOTI ITO - F D

Signature of Donor.

Signature of person accepting the donation:

Ship to 85268

Fountain Hills





(2)



What can we help you find?



Invoice 1 of 1

Picked up at

4:28 PM on Oct 29, 2024

Invoice date: Tue, Oct 29, 2024

Invoice number: 43033991056789754

Item	Qty.	Unit price	Amount
12959582 - Oscar Mayer Original Wieners Hot Dogs - 16oz/10ct	10	\$2.99	\$29.90
Buy 2 for \$5 c	n select Os	scar Mayer hot dogs	-\$4.90
		Item subtotal	\$25.00
		Order pickup	\$0.00
		Sales tax	\$0.72
		Item total	\$25.72
Item	04	11-21	A
13473417 - Bruce's Yams Cut Sweet Potatoes in	Qty. 10	Unit price \$1.69	Amount \$16.90
Syrup - 15oz	10	Ψ1.03	Ψ10.30

Buy 2 for \$3 Jet-Puffed	marshmall	ows & Bruce's yams	-\$1.90
		Item subtotal	\$15.00
		Order pickup	\$0.00
		Sales tax	\$0.44
		Item total	\$15.44
tem '8785024 - French Fried Onions - 6oz - Good &	Qty.	Unit price	Amour
Gather™	10	\$2.89	\$28.9
		Item subtotal	\$28.90
		Order pickup	\$0.00
		Sales tax	\$0.84
		Item total	\$29.74
tem	Qty.	Unit price	Amour
2936068 - Ocean Spray Whole Berry Cranberry Sauce - 14oz	10	\$1.99	\$19.9
		Item subtotal	\$19.90
		Order pickup	\$0.00
		Sales tax	\$0.58
		Item total	\$20.48
		Invoice total	\$91.38
		visa Visa*4470	\$91.38



nvoice 1 of 1

Picked up at

Item

1:28 PM on Oct 29, 2024

nvoice date: Tue, Oct 29, 2024

nvoice number: 43033991056942452

tem		Qty.	Unit price	Amoun
13391888 - McCormick Turke).87 oz	y Gravy Seasoning Mix -	10	\$1.69	\$16.9
			Item subtotal	\$16.90
			Order pickup	\$0.00
			Sales tax	\$0.49
			Item total	\$17.39
em 3473417 - Bruce's Yams Cut 15oz	Sweet Potatoes in Syrup	Qty. 10	Unit price \$1.69	416.90
	Buy 2 for \$3 Jet-Puffe	ed marshma	allows & Bruce's yams	-\$1.90
			Item subtotal	\$15.00
			Order pickup	\$0.00
			Sales tax	\$0.43

Qty.

Unit price

\$2.89

Amount

\$2.89

Gather™		

		Item subtotal	\$2.89
		Order pickup	\$0.00
		Sales tax	\$0.08
		Item total	\$2.97
Item	Qty.	Unit price	Amount
12959582 - Oscar Mayer Original Wieners Hot Dogs - 16oz/10ct	10	\$2.99	\$29.90
Buy 2 for	\$5 on select	Oscar Mayer hot dogs	-\$4.90
		Item subtotal	\$25.00
		Order pickup	\$0.00
		Sales tax	\$0.73
		Item total	\$25.73
Item	Qty.	Unit price	Amount
12936143 - Ocean Spray Jellied Cranberry Sauce - 14oz	10	\$1.99	\$19.90
		Item subtotal	\$19.90
		Order pickup	\$0.00
		Sales tax	\$0.58
		Item total	\$20.48
		Invoice total	\$82.00
		VISA Visa*4470	\$82.00

Ship to 85268 Fountain Hills









What can we help you find?



Invoice 1 of 1

Picked up at 4:23 PM yesterday

Invoice date: Tue, Nov 5, 2024

Invoice number: 43103991017301256

Item 13473417 - Bruce's Yams Cut Sweet Potatoes Syrup - 15oz	Qty. in 10	Unit price \$1.69	Amount \$16.90
В	uy 2 for \$3 on	select pantry items	-\$1.90
		Item subtotal	\$15.00
		Order pickup	\$0.00
		Sales tax	\$0.43
		Item total	\$15.43
Item	Qty.	Unit price	Amount
52461064 - Butterball Premium All Natural You Turkey - Frozen - 10-16lbs - price per lb	ng 1	\$22.48	\$22.48

ers . Invoice Detail		
	Item subtotal	\$22.48
	Order pickup	\$0.00
	Sales tax	\$0.65
	Item total	\$23.13
Qty.	Unit price	Amount
10	\$1.99	\$19.90
	Item subtotal	\$19.90
	Order pickup	\$0.00
	Sales tax	\$0.58
	Item total	\$20.48
	Invoice total	\$59.04
	visa Visa*4470	\$59.04
		Order pickup Sales tax Item total Oty. Unit price 10 \$1.99 Item subtotal Order pickup Sales tax Item total Invoice total

• Help us improve this experience.

Take a quick survey

Ship to 85268

Fountain Hills



Invoice 1 of 1

Picked up at

4:23 PM yesterday

Invoice date: Tue, Nov 5, 2024

Invoice number: 43103991017269800

Item	Qty.	Unit price	Amount
52461064 - Butterball Premium All Natural Young Turkey - Frozen - 10-16lbs - price per lb	1	\$22.48	\$22.48
		Item subtotal	\$22.48
		Order pickup	\$0.00
		Sales tax	\$0.65
		Item total	\$23.13
Item	Qty.	Unit price	Amount
52610578 - Premium Basted Young Turkey -	1	\$14.53	\$14.53
Frozen - 10-16lbs - price per lb - Good & Gather™			
		Item subtotal	\$14.53

		Order pickup Sales tax	\$0.00 \$0.42
		Item total	\$14.95
Item 13473417 - Bruce's Yams Cut Sweet Potatoe Syrup - 15oz	Qty. es in 10	Unit price \$1.69	Amount \$16.90
	Buy 2 for \$3 o	n select pantry items	-\$1.90
	9		© F.
What can we help you find?			
		пет гога	\$10.44
Item	Qty.	Unit price	Amount
12953828 - Stove Top Stuffing Mix for Turkey 6oz	- 10	\$1.99	\$19.90
		Item subtotal	\$19.90
		Order pickup	\$0.00
		Sales tax	\$0.58
		Item total	\$20.48
		Invoice total	\$74.00
		visa Visa*4470	\$74.00